PRI R - RS BR IR —

==

C[ERRE R
MIEAEEH : ‘ )
[f6E£ 98 1B #5 <SH6EIAIH EH]: % 68108 18 ERk =)
HE R ES ERHSEE AR E R R BREE KA BEILEAH BEILE S wE
1 |561,025,2 TFHERBHERE WeFEEHT 1 50 7H#s | EFEEAMEFENS | S 64 8H31H W o — T
HEE G E : 580,005,9




e N 3
s RIRERIH - KR BILEE—E%
[$FI 649K 1H #5 SF64E 9H308 R ‘ SR 64108 1H femk B
ﬁﬁ’ ERBEERS A4 E SRR FxE KA BEIEERR BE1EFERE ' i

1[1102873 SRR b EHHERT 4 0 4 B mE mh 4H1 64 8H31H

2 | 210,076.4 T4 MERER (ELETWRATEmLL2 INEFH HE— 4 64 9H20H

3 [410,360,0 PRRERIER BHTERPR3 —24—3 | s 47 64 8HI1IH Ba—:

~ 1 420,393,9

4 |410,370,9 PSR E %Iﬁﬂﬁiﬁgf{%nﬁﬂﬂ 47 |1EE BAX 4§01 64F 98 6H
| 57105271 [ wrsmsEr | memheEEE5 73 Wk @ %1 64 9911H | ' msagzgf% ]
6 [720,14453 [ FTEAREET] 29 |BE H- | 48 6F 94 1A FHp— |

720,174,0




. \ - B
R ARREIRRSEE - RRRR PR B R
(A6 98 1H 56 Sfl 6% 95300 %M . ' SH G108 1H R 1 H
HE Eﬁﬁﬂaﬁ% - ERERART R A HE P e M Eﬁ?&%&% PEILERH BEILFE e
1 | 051,030,1 A5 WERF HEHHEREAY — 1 # MR AR—2 - | 4f 64 98 1H R o — 1
F—VYL4F 402 I—-VxT— % 051,030,1
ke #HAR rﬁ ______________________
2 | 421,366,2 Ty 7AER FHE | HETERFENATELSR | SEatPEE K | 48 6 8H31H
T fE o1l ﬂiﬁié #HO #EX
i 3 1841,006,6 M —EF |HETKEL229—12 ﬁ@é?iﬁ%ﬁ%ﬂt ‘%%ﬂsff-gﬁ_:%liﬂ_ %fr% a—r
3 rA— RREEHER 841,039,7

F KF




